
 
 

 
 

\

Unfinished 1590A
Grey Textured Polyeste r Pow der Paint - RAL 7038 1590AGY
Black Tex tured Polyester Pow der Paint - RAL 9011 1590ABK

Unfinished 1590W A
Black Textured Pow der Pa int 1590W ABK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type  304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nicke l Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nicke l Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type  304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590A Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590A Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

BB

92.50
[3.642]

28.50
[1.122]

82.50
[3.248]

Top View of Assembly SECTION A-A
End View of Assembly

SECTION B-B
Side View of Assembly

1590A 

Lid

27.25
[1.073]

(Inner Box Height)

87.73
[3.454]

(Inner Box Length)

31.00
[1.220]

33.73
[1.328]

(Inner Box Width)

38.50
[1.516]

2.00
[.079]

6.00
[.236]

Lid

Box

Lid

R3.00
[.118] 35.00

[1.378]

89.00
[3.504]

Top View Looking Inside Box

6-32 UNC - 2B x 10.00
v n3.50 x 3.00
(Threaded Holes)

 

1.75
[.069]

(Wall Thickness)

30.92
[1.217]

85.10
[3.351]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590B
Grey Textured Polyester Pow der Paint - RAL 7038 1590BGY
Black Textured Polyester Powder Paint - RAL 9011 1590BBK

Unfinished 1590WB
Black Textured Powder Paint 1590W BBK

Black Textured Cover Screws (Pkg 100)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" SS Type 304]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" Nickel Plated Screws]

1590MS50BK

NOTE
Purchased assembly includes box, lid and 4 cover screws.
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).
Silicone Gasket Loctite #5950

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS

Standard Cover Screws

1590B Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590B Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

Lid

SECTION B-B
Side View of Assembly

Top View of Assembly SECTION A-A
End View of Assembly

1590B

50.50
[1.988]

102.00
[4.016]

27.00
[1.063]

(Inner Box Height)

31.00
[1.220]

106.95
[4.211]

(Inner Box Length)

55.45
[2.183]

(Inner Box Width)

60.50
[2.382]

112.00
[4.409]

2.00
[.079]

6.00
[.236]

Cover Screw

Lid

Box

Lid

Lid

Box

Top View Looking Inside Box

56.50
[2.224]

108.00
[4.252]

R3.00
[.118]

6-32 UNC - 2B x 11.00
v n3.50 x 3.00
(Threaded Holes)

2.00
[.079]

(Wall Thickness)

52.11
[2.052]

103.61
[4.079]

25.00
[.984]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590BB
Grey Textured Polyester Pow der Paint - RAL 7038 1590BBGY
Black Textured Polyester Pow der Paint - RAL 9011 1590BBBK

Unfinished 1590W BB
Black Textured Pow der Paint 1590W BBBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590BB Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590BB Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly

SECTION B-B
Side View of Assembly

SECTION A-A
End View of Assembly

1590BB

Lid

109.50
[4.311]

84.00
[3.307]

34.00
[1.339]

29.75
[1.171]

(Inner Box Height)

112.66
[4.435]

(Inner Box Length)

87.16
[3.432]

(Inner Box Width)

94.00
[3.701]

119.50
[4.705]

Lid

Lid

Box

2.00
[.079]

6.00
[.236]

R3.00
[.118]

89.50
[3.524]

115.00
[4.528]

Top View Looking Inside Box

6-32 UNC - 2B x 11.00
v n3.50 x 3.00

(Threaded Holes)

2.25
[.089]

(Wall Thickness)

110.36
[4.345]

84.86
[3.341]

27.75
[1.093]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

\

Unfinished 1590C
Grey Textured Polyester Pow der Paint - RAL 7038 1590CGY
Black Textured Polyester Pow der Paint - RAL 9011 1590CBK

Unfinished 1590W C
Black Textured Pow der Paint 1590W CBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590C Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590C Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

SECTION B-B
Side View of Assembly

Lid

Top View Looking Inside Box

84.00
[3.307]

109.50
[4.311]

85.63
[3.371]

(Inner Box Width)

89.50
[3.524]

115.00
[4.528]

R3.00
[.118]

56.50
[2.224]

52.25
[2.057]

(Inner Box Height)

111.13
[4.375]

(Inner Box Length)

94.00
[3.701]

119.50
[4.705]

6.00
[.236]

2.00
[.079]

Lid

Lid

Box

1590C

2.25
[.089]

(Wall Thickness)

6-32 UNC - 2B x 11.00
v n3.50 x 3.00
(Threaded Holes)

84.86
[3.341]

110.36
[4.345]

50.25
[1.978]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590D
Grey Textured Polyester Pow der Paint - RAL 7038 1590DGY
Black Textured Polyester Pow der Paint - RAL 9011 1590DBK

Unfinished 1590W D
Black Textured Pow der Paint 1590W DBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590D Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590D Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 6 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

BB

Top View of Assembly SECTION A-A
End View of Assembly

1590D

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

178.86
[7.042]

178.00
[7.008]

110.00
[4.331]

100.11
[3.941]

Inner Min Box Width

51.25
[2.018]

Inner Box Height

49.50
[1.949]

Inner Box Height

178.28
[7.019]

Min Inner length

180.11
[7.091]

Inner Min Box Length

183.50
[7.224]

115.00
[4.528]

110.86
[4.365]

6.00
[.236]

2.00
[.079]

120.00
[4.724]

188.00
[7.402]

89.00
[3.504]

98.78
[3.889]

Inner Min Width

2.50
[.098]

Avg Wall Thickness

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



SECTION  A-A
 

\

Unfinished 1590DD
Grey Textured Polyester Pow der Paint - RAL 7038 1590DDGY
Black Textured Polyester Pow der Paint - RAL 9011 1590DDBK

Unfinished 1590W DD
Black Textured Powder Paint 1590WDDBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590WMS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590WMS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590DD Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590DD Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 6 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

BB

A

A

Top View of Assembly
SECTION  A-A

End View of Assembly

1590DD

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

120.00
[4.724]

188.00
[7.402]

2.00
[.079]

6.00
[.236]

183.00
[7.205]

115.00
[4.527]

110.86
[4.365]

178.86
[7.042]

32.25
[1.270]

Inner Box Height

2.50
[.098]

Avg Wall
Thickness

180.42
[7.103]

Inner Box Length

30.50
[1.201]

inner Wall Height

101.08
[3.980]

Inner Box Width

n3.75 THRU
v n7.00 x .50

6-32 UNC - 2B
v n4.00 x 4.00

178.00
[7.008]

110.00
[4.331]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

\

Unfinished 1590E
Grey Textured Polyester Pow der Paint - RAL 7038 1590EGY
Black Textured Polyester Pow der Paint - RAL 9011 1590EBK

Unfinished 1590WE
Black Textured Pow der Paint 1590WEBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 6 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590E Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590E Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

1590E 

SECTION A-A
End View of Assembly

Top View of Assembly

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

120.00
[4.724]

188.00
[7.402]

6.00
[.236]

2.00
[.079]

100.81
[3.969]

75.50
[2.972]

Inner Wall Height

115.50
[4.547]

183.50
[7.224]

110.00
[4.331]

178.00
[7.008]

6-32 UNC - 2B
v n4.00 x 4.00

n3.00 x 8.00
w n 7.00 X 82.0°

77.25
[3.041]

Max inner Height

177.68
[6.995]

2.50
[.098]

180.60
[7.110]

110.86
[4.365]

89.00
[3.504]

120.00
[4.724]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

\

Unfinished 1590F
Grey Textured Polyester Pow der Paint - RAL 7038 1590FGY
Black Textured Polyester Pow der Paint - RAL 9011 1590FBK

Unfinished 1590W F
Black Textured Pow der Paint 1590W FBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590WMS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590WMS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 6 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590F Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590F Enclosure

ACCESSORIES

1

1

2

2

A A

B B

B
B

A

A

Top View of Assembly
SECTION A-A

End View of Assembly

1590F

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

89.00
[3.504]

178.00
[7.008]

178.00
[7.008]

89.00
[3.504]

167.77
[6.605]

(Inner Box Width)

67.00
[2.638]

62.00
[2.441]

(Inner Box Height)

2.50
[.098]

(Wall Thickness)

167.77
[6.605]

(Inner Box Width)
183.00
[7.205]

183.00
[7.205]

6-32 UNC - 2B x 10.00
(Threaded Holes)

2.00
[.079]

6.00
[.236]

188.00
[7.402]

188.00
[7.402]

58.50
[2.303]

(Boss Height)

Lid

Lid

Box R3.00
[.118]

n4.00 THRU
w n7.00 X 118.0°

181.00
[7.126]

179.00
[7.047]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590G
Grey Textured Polyester Powder Paint - RAL 7038 1590GGY
Black Textured Polyester Pow der Paint - RAL 9011 1590GBK

Unfinished 1590W G
Black Textured Powder Paint 1590W GBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590G Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590G Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

1590G

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

90.50
[3.563]

40.50
[1.594]

45.11
[1.776]

(Inner Box Width)

95.11
[3.745]

(Inner Box Length)

25.50
[1.004]

2.50
[.098]

(Wall Thickness)

21.00
[.827]

(Inner Box Height)
96.50

[3.799]

46.50
[1.831]

100.00
[3.937]

50.00
[1.969]

2.00
[.079]

6.00
[.236]

6-32 UNC - 2B x 10.00
(Threaded Holes)

Lid

Box

Lid

43.00
[1.693]

94.50
[3.720]

n4.00 THRU
w n7.00 X 118.0°

19.00
[.748]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590H
Grey Textured Polyester Pow der Paint - RAL 7038 1590HGY
Black Textured Polyester Pow der Paint - RAL 9011 1590HBK

Unfinished 1590W H
Black Textured Pow der Paint 1590WHBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590H Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590H Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

1590H

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

38.00
[1.496]

52.50
[2.067]

34.13
[1.344]

(Inner Box Width)

27.30
[1.075]

(Inner Box Height)

48.63
[1.914]

(Inner Box Length)

35.00
[1.378]

49.50
[1.949]

R3.50
[.138]

6-32 UNC - 2B
(Threaded Holes)

28.50
[1.122]

43.00
[1.693]

4.00
[.157]

2.00
[.079]

Lid

Lid
Box

23.00
[.906]

(Boss Height)

31.00
[1.220]

1.50
[.059]

(Wall Thickness)

29.90
[1.177]

44.20
[1.740]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

\

Unfinished 1590J
Grey Textured Polyester Powder Paint - RAL 7038 1590JGY
Black Textured Polyester Powder Paint - RAL 9011 1590JBK

Unfinished 1590W J
Black Textured Powder Paint 1590W JBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screws]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590J Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590J Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

1590J

Top View Looking Inside Box
SECTION B-B

Side View of Assembly

Lid

85.60
[3.370]

89.05
[3.506]

(Inner Box Width)

44.30
[1.744]

(Inner Box Height)

139.05
[5.475]

(Inner Box Length)

140.50
[5.531]

90.50
[3.563]

R3.60
[.142]

95.00
[3.740]

145.00
[5.709]

2.00
[.079]

6-32 UNC - 2B x10.00
(Threaded Holes)

Lid

Lid

Box

6.00
[.236]

135.60
[5.339]

49.00
[1.929]

2.50
[.098]

(Wall Thickness)

40.10
[1.579]

(Boss Height)

88.12
[3.469]

138.12
[5.438]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

\

Unfinished 1590K
Grey Textured Polyester Pow der Paint - RAL 7038 1590KGY
Black Textured Polyester Pow der Paint - RAL 9011 1590KBK

Unfinished 1590W K
Black Textured Powder Paint 1590W KBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590K Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590K Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Lid

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Top View of Assembly SECTION A-A
End View of Assembly

1590K

Lid

Box

Lid

118.01
[4.646]

(Inner Box Width)

74.30
[2.925]

(Inner Box Height)

118.01
[4.646]

(Inner Box Length)

120.50
[4.744]

120.50
[4.744]

R3.60
[.142]

6-32 UNC - 2B x 10.00
(Threaded Holes)

115.60
[4.551]

115.60
[4.551]

125.00
[4.921]

2.00
[.079]

6.00
[.236]

125.00
[4.921]

70.10
[2.760]

(Boss Height)

79.00
[3.110]

2.50
[.098]

(Wall Thickness)

115.64
[4.553]

115.64
[4.553]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590KK
Grey Textured Polyester Pow der Paint - RAL 7038 1590KKGY
Black Textured Polyester Powder Paint - RAL 9011 1590KKBK

Unfinished 1590W KK
Black Textured Pow der Paint 1590W KKBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590KK Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590KK Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly
SECTION A-A

End View of Assembly

1590KK

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

115.50
[4.547]

115.50
[4.547]

116.88
[4.602]

(Inner Box WIdth)

51.50
[2.028]

(Inner Box Height)

116.88
[4.602]

(Inner Box Length)

119.50
[4.705]

119.50
[4.705]

R10.00
[.394]

6-32 UNC - 2B x 10.00
(Threaded Holes)

124.50
[4.902]

124.50
[4.902]

1.75
[.069]

5.75
[.226]

Lid

Lid

Box

2.50
[.098]

57.00
[2.244]

48.50
[1.909]

(Boss Height)

114.50
[4.508]

114.50
[4.508]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590LB
Grey Textured Polyester Powder Paint - RAL 7038 1590LBGY
Black Textured Polyester Pow der Paint - RAL 9011 1590LBBK

Unfinished 1590WLB
Black Textured Powder Paint 1590W LBBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws]

1590WMS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590LB Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590LB Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

BB

Top View of Assembly SECTION A-A
End View of Assembly

1590LB

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

42.41
[1.670]

42.41
[1.670]

45.41
[1.788]

27.00
[1.063] 46.50

[1.831]

46.50
[1.831]

40.50
[1.594]

40.50
[1.594]

45.41
[1.788]

27.00
[1.063]

2.00
[.079]

6.00
[.236]

50.50
[1.988]

50.50
[1.988]

6-32 UNC - 2B
v n4.00 x 1.00

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590LLB
Grey Textured Polyester Pow der Pa int - RAL 7038 1590LLBGY
Black Textured Polyester Powder Paint - RAL 9011 1590LLBBK

Unfinished 1590WLLB
Black Textured Pow der Paint 1590W LLBBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nicke l Plated Screws]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nicke l Plated Screws] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590LLB Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590LLB Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

BB

Top View of Assembly

SECTION B-B
Side View of Assembly

Lid

Top View Looking Inside Box

SECTION A-A
End View of Assembly

1590LLB

Lid

Lid

Box

41.00
[1.614]

41.00
[1.614]

44.53
[1.753]

(Inner Box Width)

17.00
[.669]

(Boss Height)

2.00
[.079]

(Wall Thickness)
20.00
[.787]

(Inner Box Height)

25.00
[.984]

44.53
[1.753]

(Inner Box Length)

45.50
[1.791]

45.50
[1.791]

R10.00
[.394]

1.75
[.069]

5.75
[.226]

50.00
[1.969]

50.00
[1.969]

6-32 UNC - 2B
(Threaded Holes)

42.00
[1.654]

43.50
[1.713]

50.00
[1.969]

50.00
[1.969]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590N1
Grey Textured Polyester Powder Paint - RAL 7038 1590N1GY
Black Textured Polyester Powder Paint - RAL 9011 1590N1BK

Unfinished 1590W N1
Black Textured Pow der Paint 1590W N1BK

   Black Textured Cover Screws (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screws]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590N1 Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590N1 Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Lid

Lid

Box

Top View of Assembly SECTION A-A
End View of Assembly

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

55.00
[2.165]

110.00
[4.331]

60.58
[2.385]

(Inner Box Width)

39.50
[1.555]

35.50
[1.398]

(Inner Box Height)

115.58
[4.550]

(Inner Box Length)

65.50
[2.579]

120.00
[4.724]

6.00
[.236]

2.00
[.079]

117.00
[4.606]

62.00
[2.441]

R3.00
[.118]

6-32 UNC - 2B x 11.00
v n4.00 x 3.00
(Threaded Holes)

1590N1

2.00
[.079]

(Wall Thickness)

111.86
[4.404]

57.36
[2.258]

33.50
[1.319]

Inner Wall Height

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590P1
Grey Textured Polyester Pow der Paint - RAL 7038 1590P1GY
Black Textured Polyester Pow der Paint - RAL 9011 1590P1BK

Unfinished 1590W P1
Black Textured Pow der Paint 1590W P1BK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590P1 Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590P1 Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

SECTION B-B
Side View of Assembly

Lid

1590P1

70.00
[2.756]

140.00
[5.512]

76.12
[2.997]

(Inner Box Width)

2.50
[.098]

(Wall Thickness)

50.50
[1.988]

45.75
[1.801]

(Inner Box Length)

146.12
[5.753]

(Inner Box Length)

Top View Looking Inside Box

148.00
[5.827]

78.00
[3.071]

R4.00
[.157]

6-32 UNC - 2B x 11.00
v n3.50 x 3.00
(Threaded Holes)

83.00
[3.268]

153.00
[6.024]

1.50
[.059]

5.50
[.217]

Lid

Lid

Box

144.50
[5.689]

76.00
[2.992]

44.00
[1.732]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



 
 

 
 

\

Unfinished 1590Q
Grey Textured Polyester Pow der Paint - RAL 7038 1590QGY
Black Textured Polyester Pow der Paint - RAL 9011 1590QBK

Unfinished 1590W Q
Black Textured Pow der Paint 1590W QBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590Q Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590Q Enclosure

ACCESSORIES

1

1

2

2

A A

B B
B B

A

A

110.00
[4.331]

29.50
[1.161]

(Inner Box Height)

113.82
[4.481]

(Inner Box Length)

34.00
[1.339]

SECTION A-A
Side View of Assembly

SECTION B-B
End View of Assembly

Top View of Assembly

1590Q

110.00
[4.331]

113.82
[4.481]

(Inner Box Width)

120.00
[4.724]

120.00
[4.724]

Lid 6.00
[.236]

2.00
[.079]

Lid

Top View Looking Inside Box

115.00
[4.528]

115.00
[4.528]

R3.00
[.118]

6-32 UNC - 2B x 10.00
v n3.50 x 3.00

(Threaded Holes)

2.50
[.098]

(Wall Thickness)

Box

Lid

110.65
[4.356]

110.65
[4.356]

27.50
[1.083]

Inner Wall Height

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590R1
Grey Textured Polyester Pow der Paint - RAL 7038 1590R1GY
Black Textured Polyester Pow der Paint - RAL 9011 1590R1BK

Unfinished 1590WR1
Black Textured Pow der Paint 1590W R1BK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590WMS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590R1 Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590R1 Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 6 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

Top View of Assembly SECTION A-A
End View of Assembly

1590R1

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

91.25
[3.593]

182.50
[7.185]

102.00
[4.016]

105.17
[4.140]

(Inner Box WIdth)

60.75
[2.392]

56.75
[2.234]

(Inner Box Height)

2.00
[.079]

(Wall Thickness)

185.92
[7.320]

(Inner Box Length)

188.00
[7.402]

107.25
[4.222]

R3.75
[.148]

6-32 UNC - 2B
v n4.00 x 3.50
(Threaded Holes)

1.50
[.059]

5.50
[.217]

192.00
[7.559]

111.25
[4.380]

Lid

Lid

Box

103.30
[4.067]

183.50
[7.224]

54.75
[2.156]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590S
Grey Textured Polyester Pow der Paint - RAL 7038 1590SGY
Black Textured Polyester Powder Paint - RAL 9011 1590SBK

Unfinished 1590W S
Black Textured Powder Paint 1590W SBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590S Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590S Enclosure

ACCESSORIES

1

1

2

2

A A

B B

BB

A

A

Top View of Assembly SECTION A-A
End View of Assembly

1590S

Top View Looking Inside Box
SECTION B-B

Side View of Assembly

Lid

100.10
[3.941]

72.10
[2.839]

75.68
[2.980]

Inner Box Wdith

37.50
[1.476]

Inner Box Height

39.50
[1.555]

Max Height

103.68
[4.082]

Inner Box Lenght

77.30
[3.043]

105.30
[4.146]

82.10
[3.232]

110.10
[4.335]

73.00
[2.874]

101.00
[3.976]

2.00
[.079]

6.00
[.236]

2.50
[.098]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590T
Grey Textured Polyester Powder Paint - RAL 7038 1590TGY
Black Textured Polyester Pow der Paint - RAL 9011 1590TBK

Unfinished 1590WT
Black Textured Pow der Paint 1590W TBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590WMS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590T Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590T Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

A

A

B B

1590T

SECTION A-A
End View of Assembly

Top View of Assembly

SECTION B-B
Side View of Assembly

Top View Looking Inside Box

Lid

110.75
[4.360]

70.60
[2.780]

72.93
[2.871]

(Inner Box Width)

54.50
[2.146]

(Inner Box Height)
59.00
[2.323]

2.50
[.098]

(Wall Thickness)

113.43
[4.466]

(Inner Box Width)

115.50
[4.547]

75.00
[2.953]

R3.50
[.138]

6-32 UNC - 2B x 9.00 
(Threaded Holes)

80.00
[3.150]

120.50
[4.744]

2.00
[.079]

6.00
[.236]

Lid

Lid

Box

50.00
[1.969]

(Boss Height)

71.00
[2.795]

112.75
[4.439]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590U
Grey Textured Polyester Powder Paint - RAL 7038 1590UGY
Black Textured Polyester Pow der Paint - RAL 9011 1590UBK

Unfinished 1590W U
Black Textured Powder Paint 1590W UBK

   Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590U Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590U Enclosure

ACCESSORIES

1

1

2

2

A A

B B

A

A

B
B

Top View Looking Inside Box

SECTION A-A
End View of Assembly

Top View of Assembly

SECTION B-B
Side View of Assembly

Lid

Lid

Lid

Box

110.00
[4.331]

110.00
[4.331]

112.73
[4.438]

(Inner Box Width)

54.50
[2.146]

(Inner Box Height)
59.00

[2.323]

112.73
[4.438]

(Inner Box Length)

115.00
[4.528]

115.00
[4.528]

R3.00
[.118]

6-32 UNC - 2B x 10.00
v n4.00 x 3.00
(Threaded Holes)

120.00
[4.724]

120.00
[4.724]

2.00
[.079]

6.00
[.236]

1590U

2.50
[.098]

(Wall Thickness)

52.50
[2.067]

110.65
[4.356]

110.65
[4.356]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



\

Unfinished 1590V
Grey Textured Polyester Powder Paint - RAL 7038 1590VGY
Black Textured Polyester Powder Paint - RAL 9011 1590VBK

Unfinished 1590W V
Black Textured Powder Paint 1590W VBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws]

1590W MS100

Unfinshed Cover Screws (Pkg 100)
[6-32 x 1/2" Nickel Plated Screws] 1590MS100

Black Textured Cover Screws (Pkg 50)
[6-32 x 1/2" SS Type 304]

1590MS100BK

Standard Cover Screws

1590V Liquid Resistant Enclosure  (Silicon Factory Installed Gasket)

1590V Enclosure

ACCESSORIES

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

1

1

2

2

A A

B B

B B

A

A
Top View of Assembly SECTION A-A

End View of Assembly

1590V

Top View Looking Inside BoxSECTION B-B
Side View of Assembly

Lid

110.00
[4.331]

110.00
[4.331]

111.36
[4.384]

(Inner Box Width)

87.50
[3.445]

(Boss Height)

89.50
[3.524]

(Inner Box Height)

94.00
[3.701]

111.36
[4.384]

(Inner Box Length)

2.50
[.098]

(Wall Thickness)
115.00
[4.528]

115.00
[4.528]

R3.50
[.138]

6-32 UNC - 2B
v n4.00 x 3.00
(Threaded Holes)

120.00
[4.724]

120.00
[4.724]

2.00
[.079]

6.00
[.236]

Lid

Lid

Box

110.65
[4.356]

110.65
[4.356]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.



ASSEMBLY

SECTION B-B

LID - INSIDEBOX - INSIDE

SECTION A-A

\

Unfinished 1590XX
Grey Textured Polyester Powder Paint - RAL 7038 1590XXGY
Black Textured Polyester Pow der Paint - RAL 9011 1590XXBK

Unfinished 1590W XX
Black Textured Pow der Paint 1590W XXBK

Black Textured Cover Screws (Pkg 100)
[6-32 x 1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" SS Type 304]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x 1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x 1/2" Nickel Plated Screw s]

1590MS50BK

NOTE
Purchased assembly includes box, lid and 4 cover screws.
Box and lid are made from Diecast Aluminum Alloy.
Silicone Gasket Loctite #5950

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS

Standard Cover Screws

1590XX Liquid Resistant Enclosure (Silicon Factory Insta lled Gasket)

1590XX Enclosure

ACCESSORIES

1

1

2

2

A A

B B

B B

A

A

1590XX

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.

116.70
[4.594]

140.70
[5.539]

121.20
[4.772]

145.20
[5.717]

121.20
[4.772]

145.20
[5.717]

124.70
[4.909]

100.70
[3.965]

115.00
[4.528]

(Inner Box Width)

39.30
[1.547]

35.20
[1.386]

2.25
[.089]
(Wall Thickness)

35.05
[1.380]

(Inner Box Height)
139.00
[5.472]

(Inner Box Length)

139.70
[5.500]

115.70
[4.555]

126.00
[4.961]

102.00
[4.016]

135.00
[5.315]

111.00
[4.370]



\

Unfinished 1590Y
Grey Textured Polyester Powder Paint - RAL 7038 1590YGY
Black Textured Polyester Powder Paint - RAL 9011 1590YBK

Unfinished 1590W Y
Black Textured Pow der Paint 1590WYBK

   Black Textured Cover Screws (Pkg 50)
[6-32 x  1/2" SS Type 304] 1590W MS100BK

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s]

1590W MS100

Unfinshed Cover Screw s (Pkg 100)
[6-32 x  1/2" Nickel Plated Screw s] 1590MS100

Black Textured Cover Screw s (Pkg 50)
[6-32 x  1/2" SS Type 304]

1590MS100BK

NOTE
Purchased assembly includes box, lid and 4 cover screws. 
Box and lid are made from Diecast Aluminum Alloy (alloy type 380).                                      
Silicone Gasket Loctite #5950                                              

Recommended Torque: 75 ozf.in / 55 cN.m

PART NUMBERS 

Standard Cover Screws

1590Y Liquid Resistant Enclosure (Silicon Factory Installed Gasket)

1590Y Enclosure

ACCESSORIES

1

1

2

2

A A

B B

B B

A

A

Top View of Assembly SECTION A-A
End View of Assembly

1590Y

SECTION B-B
Side View of Assembly

Lid

Top View Looking Inside Box

79.50
[3.130]

79.50
[3.130]

85.17
[3.353]

(Inner Box Width)

85.17
[3.353]

(Inner Box Length)

36.50
[1.437]

(Inner Box Height)

42.00
[1.654]

92.00
[3.622]

92.00
[3.622]

1.75
[.069]

4.00
[.157]

87.00
[3.425]

87.00
[3.425]

R12.50
[.492]

Lid

Lid

Box

2.50
[.098]

6-32 UNC - 2B

33.50
[1.319]

Boss Height

81.00
[3.189]

81.00
[3.189]

Enclosures can be Factory Modified ( Milling, Drilling, Printing etc.)
Contact Factory       mjm@hammondmfg.com for quotes
Solid models of this enclosure available in STEP or IGES.


